

ABC Bid Data

DISTRICT 2 16162H NON-FEDERAL

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	DISTRICT 2 16162H NON-FEDERAL March 21, 2019, 2:00 Resurfacing various tier 2, 3, and 4 roadways in District 2. September 13, 2019	Awarded To: Amount: Award Date:	GMI ASPHALT LLC 288 LACONIA ROAD BELMONT, NH 03220 \$3,724,936.55	Certified by:	PETER.E.STAMNAS	
	Summar	y of Bidders				
Contractor					Bid Amount	Rank
GMI ASPHALT LLC 288 LACONIA ROA	D, BELMONT NH 03220				\$3,724,936.55	A
CONTINENTAL PAVIN 1 CONTINENTAL D	IG INC RIVE, LONDONDERRY NH 03053				\$3,839,309.35	В
PIKE INDUSTRIES, IN 3 EASTGATE PARK	C. K ROAD, BELMONT NH 03220				\$3,870,160.00	С

				F	'S&E	288 LAC	PHALT LLC ONIA ROAD IT, NH 03220	1 CONTIN	AL PAVING INC ENTAL DRIVE RRY, NH 03053
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

203.961	CLEANING DITCHLINES/SWALES	SY	100.00	\$53.23	\$5,323.00	\$35.00	\$3,500.00	\$40.00	\$4,000.00
206.1	COMMON STRUCTURE EXCAVATION	СҮ	45.70	\$300.00	\$13,710.00	\$275.00	\$12,567.50	\$300.00	\$13,710.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	5,969.00	\$23.00	\$137,287.00	\$20.00	\$119,380.00	\$20.00	\$119,380.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	685.00	\$91.77	\$62,862.45	\$68.00	\$46,580.00	\$73.00	\$50,005.00
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	872.00	\$95.35	\$83,145.20	\$82.00	\$71,504.00	\$85.00	\$74,120.00
403.11902	HBP - MACHINE METHOD, HIGH STRENGTH (QC/QA TIER 2)	TON	2,016.00	\$90.62	\$182,689.92	\$82.00	\$165,312.00	\$85.00	\$171,360.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	46.00	\$119.35	\$5,490.10	\$135.00	\$6,210.00	\$160.00	\$7,360.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	2,701.00	\$2.02	\$5,456.02	\$2.50	\$6,752.50	\$1.75	\$4,726.75
403.6	PAVEMENT JOINT ADHESIVE	LF	32,865.00	\$1.00	\$32,865.00	\$0.55	\$18,075.75	\$0.24	\$7,887.60
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	920.00	\$1.78	\$1,637.60	\$4.00	\$3,680.00	\$1.00	\$920.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	44,921.00	\$3.17	\$142,399.57	\$3.80	\$170,699.80	\$3.00	\$134,763.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	36,791.00	\$76.85	\$2,827,388.35	\$68.00	\$2,501,788.00	\$75.00	\$2,759,325.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	34,700.00	\$7.00	\$242,900.00	\$3.00	\$104,100.00	\$3.00	\$104,100.00
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	75.00	\$50.00	\$3,750.00	\$30.00	\$2,250.00	\$50.00	\$3,750.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	60.00	\$100.26	\$6,015.60	\$135.00	\$8,100.00	\$131.00	\$7,860.00
604.0007	POLYETHYLENE LINER	EA	113.00	\$115.00	\$12,995.00	\$140.00	\$15,820.00	\$125.00	\$14,125.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	113.00	\$450.00	\$50,850.00	\$460.00	\$51,980.00	\$400.00	\$45,200.00
608.2401	4" CONCRETE SIDEWALK	SY	256.00	\$55.00	\$14,080.00	\$65.00	\$16,640.00	\$55.00	\$14,080.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	34.00	\$425.00	\$14,450.00	\$450.00	\$15,300.00	\$425.00	\$14,450.00
609.01	STRAIGHT GRANITE CURB	LF	7.00	\$37.80	\$264.60	\$200.00	\$1,400.00	\$35.00	\$245.00
609.5	RESET GRANITE CURB	LF	471.00	\$35.00	\$16,485.00	\$38.00	\$17,898.00	\$35.00	\$16,485.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	1.00	\$877.00	\$877.00	\$3,000.00	\$3,000.00	\$2,200.00	\$2,200.00
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$6,760.50	\$6,760.50	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
618.7	FLAGGERS	HR	1,970.00	\$26.00	\$51,220.00	\$38.00	\$74,860.00	\$33.00	\$65,010.00
619.253	PORTABLE CHANGEABLE MESSAGE SIGN (UNIT WEEK)	UWK	5.00	\$500.00	\$2,500.00	\$300.00	\$1,500.00	\$500.00	\$2,500.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	996.00	\$3.00	\$2,988.00	\$3.00	\$2,988.00	\$1.00	\$996.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	500.00	\$2.00	\$1,000.00	\$2.00	\$1,000.00	\$1.50	\$750.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	250.00	\$6.00	\$1,500.00	\$4.00	\$1,000.00	\$4.00	\$1,000.00

				PS&E		GMI ASPHALT LLC 288 LACONIA ROAD BELMONT, NH 03220		CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE LONDONDERRY, NH 03053	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	100.00	\$2.00	\$200.00	\$3.00	\$300.00	\$5.00	\$500.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	50.00	\$4.00	\$200.00	\$4.50	\$225.00	\$5.00	\$250.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	850.00	\$1.07	\$909.50	\$4.50	\$3,825.00	\$3.00	\$2,550.00
692.	MOBILIZATION	U	1.00	\$79,783.55	\$79,783.55	\$130,000.00	\$130,000.00	\$50,000.00	\$50,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	101.00	\$1.00	\$101.00	\$1.00	\$101.00	\$1.00	\$101.00
			Totals:		\$4,153,183.96		\$3,724,936.55		\$3,839,309.35
			Alt. Totals:						
			Totals:		\$4,153,183.96		\$3,724,936.55		\$3,839,309.35

				PS&E		PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

		1	1					
203.961	CLEANING DITCHLINES/SWALES	SY	100.00	\$53.23	\$5,323.00	\$25.00	\$2,500.00	
206.1	COMMON STRUCTURE EXCAVATION	СҮ	45.70	\$300.00	\$13,710.00	\$325.00	\$14,852.50	
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	5,969.00	\$23.00	\$137,287.00	\$26.00	\$155,194.00	
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	685.00	\$91.77	\$62,862.45	\$80.00	\$54,800.00	
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	872.00	\$95.35	\$83,145.20	\$82.00	\$71,504.00	
403.11902	HBP - MACHINE METHOD, HIGH STRENGTH (QC/QA TIER 2)	TON	2,016.00	\$90.62	\$182,689.92	\$76.00	\$153,216.00	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	46.00	\$119.35	\$5,490.10	\$200.00	\$9,200.00	
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	2,701.00	\$2.02	\$5,456.02	\$2.00	\$5,402.00	
403.6	PAVEMENT JOINT ADHESIVE	LF	32,865.00	\$1.00	\$32,865.00	\$0.30	\$9,859.50	
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	920.00	\$1.78	\$1,637.60	\$0.50	\$460.00	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	44,921.00	\$3.17	\$142,399.57	\$2.00	\$89,842.00	
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	36,791.00	\$76.85	\$2,827,388.35	\$74.00	\$2,722,534.00	
417.	COLD PLANING BITUMINOUS SURFACES	SY	34,700.00	\$7.00	\$242,900.00	\$3.50	\$121,450.00	
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	75.00	\$50.00	\$3,750.00	\$10.00	\$750.00	
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	60.00	\$100.26	\$6,015.60	\$131.00	\$7,860.00	
604.0007	POLYETHYLENE LINER	EA	113.00	\$115.00	\$12,995.00	\$120.00	\$13,560.00	
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	113.00	\$450.00	\$50,850.00	\$500.00	\$56,500.00	
608.2401	4" CONCRETE SIDEWALK	SY	256.00	\$55.00	\$14,080.00	\$65.00	\$16,640.00	
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	34.00	\$425.00	\$14,450.00	\$450.00	\$15,300.00	
609.01	STRAIGHT GRANITE CURB	LF	7.00	\$37.80	\$264.60	\$55.00	\$385.00	
609.5	RESET GRANITE CURB	LF	471.00	\$35.00	\$16,485.00	\$35.00	\$16,485.00	
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	1.00	\$877.00	\$877.00	\$2,200.00	\$2,200.00	
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$6,760.50	\$6,760.50	\$2,500.00	\$2,500.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
618.7	FLAGGERS	HR	1,970.00	\$26.00	\$51,220.00	\$33.00	\$65,010.00	
619.253	PORTABLE CHANGEABLE MESSAGE SIGN (UNIT WEEK)	UWK	5.00	\$500.00	\$2,500.00	\$175.00	\$875.00	
628.2	SAWED BITUMINOUS PAVEMENT	LF	996.00	\$3.00	\$2,988.00	\$5.00	\$4,980.00	
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	500.00	\$2.00	\$1,000.00	\$0.80	\$400.00	
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	250.00	\$6.00	\$1,500.00	\$3.60	\$900.00	

				PS&E		PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	100.00	\$2.00	\$200.00	\$2.00	\$200.00		
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	50.00	\$4.00	\$200.00	\$4.00	\$200.00		
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	850.00	\$1.07	\$909.50	\$4.00	\$3,400.00		
692.	MOBILIZATION	U	1.00	\$79,783.55	\$79,783.55	\$108,000.00	\$108,000.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00		
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00		
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00		
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00		
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	101.00	\$1.00	\$101.00	\$1.00	\$101.00		
			Totals:		\$4,153,183.96		\$3,870,160.00		
			Alt. Totals:						
			Totals:		\$4,153,183.96		\$3,870,160.00		



DISTRICT 2 16162H

NON-FEDERAL

				A-Bid	der	PS8	λЕ	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
203.961	CLEANING DITCHLINES/SWALES	SY	100.00	\$35.00	\$3,500.00	\$53.23	\$5,323.00	(\$1,823.00)
206.1	COMMON STRUCTURE EXCAVATION	CY	45.70	\$275.00	\$12,567.50	\$300.00	\$13,710.00	(\$1,142.50)
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	5,969.00	\$20.00	\$119,380.00	\$23.00	\$137,287.00	(\$17,907.00)
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	685.00	\$68.00	\$46,580.00	\$91.77	\$62,862.45	(\$16,282.45)
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	872.00	\$82.00	\$71,504.00	\$95.35	\$83,145.20	(\$11,641.20)
403.11902	HBP - MACHINE METHOD, HIGH STRENGTH (QC/QA TIER 2)	TON	2,016.00	\$82.00	\$165,312.00	\$90.62	\$182,689.92	(\$17,377.92)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	46.00	\$135.00	\$6,210.00	\$119.35	\$5,490.10	\$719.90
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	2,701.00	\$2.50	\$6,752.50	\$2.02	\$5,456.02	\$1,296.48
403.6	PAVEMENT JOINT ADHESIVE	LF	32,865.00	\$0.55	\$18,075.75	\$1.00	\$32,865.00	(\$14,789.25)
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	920.00	\$4.00	\$3,680.00	\$1.78	\$1,637.60	\$2,042.40
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	44,921.00	\$3.80	\$170,699.80	\$3.17	\$142,399.57	\$28,300.23
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	36,791.00	\$68.00	\$2,501,788.00	\$76.85	\$2,827,388.35	(\$325,600.35)
417.	COLD PLANING BITUMINOUS SURFACES	SY	34,700.00	\$3.00	\$104,100.00	\$7.00	\$242,900.00	(\$138,800.00)
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	75.00	\$30.00	\$2,250.00	\$50.00	\$3,750.00	(\$1,500.00)

559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	60.00	\$135.00	\$8,100.00	\$100.26	\$6,015.60	\$2,084.40
604.0007	POLYETHYLENE LINER	EA	113.00	\$140.00	\$15,820.00	\$115.00	\$12,995.00	\$2,825.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	113.00	\$460.00	\$51,980.00	\$450.00	\$50,850.00	\$1,130.00
608.2401	4" CONCRETE SIDEWALK	SY	256.00	\$65.00	\$16,640.00	\$55.00	\$14,080.00	\$2,560.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	34.00	\$450.00	\$15,300.00	\$425.00	\$14,450.00	\$850.00
609.01	STRAIGHT GRANITE CURB	LF	7.00	\$200.00	\$1,400.00	\$37.80	\$264.60	\$1,135.40
609.5	RESET GRANITE CURB	LF	471.00	\$38.00	\$17,898.00	\$35.00	\$16,485.00	\$1,413.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	1.00	\$3,000.00	\$3,000.00	\$877.00	\$877.00	\$2,123.00
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$3,500.00	\$3,500.00	\$6,760.50	\$6,760.50	(\$3,260.50)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
618.7	FLAGGERS	HR	1,970.00	\$38.00	\$74,860.00	\$26.00	\$51,220.00	\$23,640.00
619.253	PORTABLE CHANGEABLE MESSAGE SIGN (UNIT WEEK)	UWK	5.00	\$300.00	\$1,500.00	\$500.00	\$2,500.00	(\$1,000.00)
628.2	SAWED BITUMINOUS PAVEMENT	LF	996.00	\$3.00	\$2,988.00	\$3.00	\$2,988.00	\$0.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	500.00	\$2.00	\$1,000.00	\$2.00	\$1,000.00	\$0.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	250.00	\$4.00	\$1,000.00	\$6.00	\$1,500.00	(\$500.00)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	100.00	\$3.00	\$300.00	\$2.00	\$200.00	\$100.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	50.00	\$4.50	\$225.00	\$4.00	\$200.00	\$25.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	850.00	\$4.50	\$3,825.00	\$1.07	\$909.50	\$2,915.50
692.	MOBILIZATION	U	1.00	\$130,000.00	\$130,000.00	\$79,783.55	\$79,783.55	\$50,216.45
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$0.00
1008.11		\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00

1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$ 10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$ 40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$ 75,000.00	\$1.00	\$75,000.00	\$1.00	\$75,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$ 101.00	\$1.00	\$101.00	\$1.00	\$101.00	\$0.00

Total:

\$3,724,936.55

\$4,153,183.96 (\$428,247.41)